*MonLines

dividual

MonLines MDH013B TELESKOP DECKENHALTER
MonLines MDH013B TELESCOPIC CEILING MOUNT

BEDIENUNGSANLEITUNG
INSTRUCTION MANUAL

0.0.0.0.0.0.0.0.0.0.0.0 .0 .0 .0 .4

23" 37"

45 KG

0%0%6%6% %% %% %% %% % %"



*MonLines

dividual

=

—=— € G
M4x12 M4x30

B C x1 D x4
llllm«n
M6x12 M6x30 M8x16

A x1 E x4

e ]

M8x60 210x50 S$=5mm 18x8x20
G x4 H x1 F x4

IMPORTANT: Ensure that you have received all parts according to the component

checklist prior to installation. If any parts are missing or faulty, telephone your
local distributor for replacement.
IMPORTANTE: Assicurarsi di aver ricevuto tutte le parti elencate nella lista dei
componenti prima di procedere all'installazione.Se un qualsiasi componente
risultasse mancante o difettoso, contattate il vostro rivenditore per ricevere la
sostituzione.

WICHTIG: Vor der Montage bitte alle erhaltenen Bauteile mit der Bauteileliste
abgleichen. Bei beschadigten oder fehlenden Teilen den Handler vor Ort nach
Ersatzteilen fragen.

IMPORTANT: Avant [installation, assurez-vous que vous avez regu toutes les
piéces selon la liste de vérification des composants. Si une piece est manquante
ou endommagée, téléphonez a votre distributeur local pour qu'il la remplace.

IMPORTANTE: Asegurese de que haya recibido todas las piezas segun la lista
de verificacion de componentes para la instalacion. Si falta alguna de las partes,
0 esta dafiada, comuniquese con su distribuidor.

WAZNE: Sprawdz wszystkie dostepne elementy z dotaczong listg upewniajac sie,
ze niczego nie brakuje. Jesli ktdrys z elementéw jest uszkodzony lub go nie ma,
skontaktuj sie z lokalnym dystrybutorem.




*MonLines

dividual

N




*MonLines

dividual
\
/ﬁ% somm(2) |
4 210mm(0.39")
Concrete
Ceiling
_1 3mm
J
\

Concrete
Ceiling

o
°&
//

>




*Mon LLn_es

ividual

—
PR




*MonLines

° o
— o
o (= : i e
o
- — —
[} == . —
(== — — g
\; | S & = \-E}—-\
Option Option
? D~F — ? D~F
o

N
=
™
\l
©
e

i
3
S~
—
~
A
w
—
w
B




